RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the Memorandum of Agreement Among the Members of the Tribal Law Enforcement Consortium of Arizona)

RESOLUTION NO. 13-218

1	WHEREAS,	the Tohono O'odham Nation has the authority and responsibility to protect and
2		provide for the health, safety and welfare of the Nation and its members; and
3	WHEREAS,	the ability to exchange law enforcement information among fellow Tribal Police
4		Departments is a crucial part of maintaining law and order and preventing and
5		${\bf reducing\ crime, the reby\ providing\ for\ the\ health, safety\ and\ welfare\ of\ the\ Nation\ and\ and\ safety\ and\ welfare\ of\ the\ Nation\ and\ safety\ and\ safety\ and\ welfare\ of\ the\ Nation\ and\ safety\ safet$
6		its members; and
7	WHEREAS,	the Ak-Chin Police Department; Fort McDowell Police Department; Gila River Police
8	:	Department; Salt River Police Department; the Tohono O'odham Police Department
9		have come together to outline an organization als tructure for the establish ment of the compared to the compared together to outline an organization als tructure for the establish ment of the compared together to outline an organization als tructure for the establish ment of the compared together to outline an organization als tructure for the establish ment of the compared together to outline an organization als tructure for the establish ment of the compared together togethe
10		TribalLawEnforcementConsortiumofArizona(TLECA)forthepurposesofexchanging
11		authorized law enforcement information among the participating Tribal Police
12		Departments; and
13	WHEREAS,	the terms of membership in the Consortium are prescribed by the Memorandum of
14		Agreement Among Members of the Tribal Law Enforcement Consortium of Arizona
15		$Participating \ in \ the \ Tribal \ Law \ Enforcement \ Exchange \ Service \ (MOA), attached \ hereto;$
16		and
17	WHEREAS,	upon the effective date of the MOA, Members of the Consortium intend to exchange
18		$authorized\ lawenforcementin formationamongtheparticipatingMembersthrough$
19		the use of the Tribal Law Enforcement Information Exchange System of Arizona
20		(LEIES), which will be maintained on the U.S Department of Justice Criminal Justice
21		In formation Services (CJIS) National Data Exchange (N-DEx), which is a data repository data a data repository data d
22		operated by the Federal Bureau of Investigation; and
23	WHEREAS,	by approving the MOA, Authorized Personnel designated by each participating Tribal
24		Police Department will be entitled to access and exchange law enforcement
25		$information \ using \ LEIES\ in\ accordance\ with\ the\ terms\ of\ the\ MOA\ and\ applicable\ laws$
26		and policies to be developed by the participating Tribal Police Departments; and
27	WHEREAS,	the attached MOA has been reviewed by the Domestic Affairs Committee which
28		recommends Legislative Council approval.
	H	

29

l	RESOLUTION NO. 13-218
	(Approving the Memorandum of Agreement Among the Members of the Tribal Law Enforcement
	Consortium of Arizona)
,	Page 2 of 3
1	NOW, THEREFORE, BE IT RESOLVED the Tohono O'odham Legislative Council hereby approves the
2	Memorandum of Agreement Among the Members of the Tribal Law Enforcement
3	Consortium of Arizona, substantially in the form attached hereto, and authorizes the
4	Chairman of the Nation to execute it.
5	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 13 TH Day
6	of trive 2012 at a meeting at which a quorum was present with a vote 012,946.5 FUK; <u>-U-</u> AGAINS1;
7	to it not voting, and foll ARSENT, nursuant to the powers vested in the council by Arucle vi, [
8	Section 1 (c)(2), 1 (c)(6),1(f) and 1(l) of the Constitution of the Tohono O'odham Nation, adopted by
9	the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant
10	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June
11	18, 1934 (48 Stat. 984).
12	
13	TOHONO O'O'DHAM LEGISLATIVE COUNCIL
14	MIMMULLY XI TELE
15 16	Timothy Joaquin, Legislative Chairman
17	19 day of, 2013
18	
19	
20	ATTEST:
21	
22	Wordlass
23	Evonne Wilson, Legislative Secretary
24	18 day of, 2013.
25	A see that the second of the s
26	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on theday of, 2013 at, 2013 at
27	Nation on the
28	upon his approval or upon his failure to either approve or disapprove it within 48 hours of
29	
30	submittal.
31	TOHONO O'ODHAMLEGISLATIVE COUNCIL
32	TOHONO O'UDHAW LEGISLATIVE COUNCIL
33	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
34	*IMMITAL) XI ITAUL
35	Timothy Joaquin Legislative Chairman
36	Timothy Joaquill Legislative Chairman
37	
38	
39	
40	
41	
42	

on the day of hand 2013
on the day of, 2013
at <u>4.'\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ </u>
$\mathcal{M} \mathcal{M} \mathcal{M} \mathcal{M}$
NED NORRIS, JR., CHAIRMAN
TOHONO O'ODHAM NATION
ecretary on the <u>3/</u> day of
ıt <u>833</u> o'clock, <u>A</u> .M.
cretary

ACTION: APPROVING THE MEMORANDUM OF AGREEMENT AMONG THE MEMBERS OF THE TRIBAL LAW

ENFORCEMENT CONSORTIUM OF ARIZONA

MOVED: COUNCILWOMAN ETHEL GARCIA SECOND: COUNCILWOMAN GRACE MANUEL

DATE: JUNE 13, 2013

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. LUCINDA ALLEN	112.1	X			 "
224.2	(Nicholas Jose) 2. MARY LOPEZ ()	112.1	X			
SELLS	1. ARTHUR WILSON	251.0	х	**		
502.0	(Kimberly Mull) 2. BARBARA HAVIER ()	251.0	X			
SCHUK TOAK	1. FRANCES B. STEPHENS	87.1	х			
174.2	(Anthony J. Rios) 2. QUINTIN C. LOPEZ (John Fendenheim)	87.1	X			
SAN XAVIER	1. HILARION CAMPUS	112.1	x			
224.2	2. ADAM ANDREWS	112.1	x			
SAN LUCY	1. DIANA MANUEL	109.8	Х	<u>"</u>		
219.6	(Gloria Ramirez) 2. JANA MONTANA ()	109.8	х			
PISINEMO	1. CHESTER ANTONE	105.3	x			
210.6	(Tony Murrietta) 2. EDWARD MANUEL, SR. ()	105.3	X			
HICKIWAN	1. LOUIS R. LOPEZ (Michelle Ortega)	98.45	x			
196.9	2. SANDRA ORTEGA (Manuel Osequeda, Jr.)	98.45	X			
HIA CED 19.6	1. LORRAINE EILER (Jolene Garcia)	9.8	x			ļ }
19.0	2. MICHAEL FLORES	9.8	X		X	
GU VO	1. GRACE MANUEL (Floyd Flores)	120.5	х			
241.0	2. PAMELA ANGHILL (Jeffery Antone, Sr.)	120.5	X			Х
GU ACHI	1. TIMOTHY L. JOAQUIN	128.65	x			
257.3	2. LORETTA LEWIS (Louis Johnson)	128.65	X			
CHUKUT KUK	1. ETHEL GARCIA (Marlakay C. Henry)	159.6	x			,
319.2	2. BILLMAN LOPEZ ()	159.6	Х			
BABOQUIVARI	1. FRANCES MIGUEL (Roberta Harvey)	178.85	х			
357.7	2. VERNON J. SMITH (Gloria Zazueta)	178.85	x			
	TOTAL	2,946.5	2,946.5	-0-	[01]	[01]